28

23

65

7,987 kI

23

0 Kl

Al101

Al104

A102

A103




Al1|0|2]0 0/0/0]|1
1132 0|0/ 2|1
1-4a-
17,428.71 | m? 1 o1
- 0 |
= O O
™ O O
O O O
91821 O O n
28
= x 0.0258 486 |kl
= 943 |t
_ 15 |t
= 958 |t
2
X 1000/ 54.1 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
O [Nm®| 75,189.3 | 45.00 3,3835 0.014 168.7
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 254.0 | 36.70 9.3 0.019 0.6
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 8 O | kwh 00| 9.28 0.0 0.489 0.0
O |kwh|1,584,073.0| 9.76 | 15,460.6 0.489 774.6
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
18,853.4 944.0
O m® | 22,264.0 0.251 5.6
O md | 22,264.0 0.439 9.8
15.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 C104
C106 c108
C109 c111
Cl14 c123
C501 C115
C504 C116
C506 C126
c117
C503
D101 D102
D103 D105
D104 D108
D106
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0_4 B1 03 C10.2
C10.3 C105 C1 0.7
Cl12 C11.3 C122
C125 C1 2.7 C12.8
C1209 C1 3.0 C5 0.9
C5 1.0 C5 1.1 C5 2.2
C5 2.3 C5 2.4 D1 0.7




Al1/0]2]|0 0,00 2
1132 0,021
1- 150 -
1,711.35 | m? 1 O 1
- 0 |
n O O
n O O
O O O
918 2|1 O O ]
28
= x 0.0258 41 |kI
= 80 |t
_ 1]t
_ 81 |t
2
1000/ 46.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 295.8 | 45.00 13.3 0.014 0.7
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 162,901.0 9.76 1,589.9 0.489 79.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,603.2 80.3
| m® 1,840.0 0.251 0.5
| m® 1,840.0 0.439 0.8
1.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 c123
C109 C115
C114 C116
C504 C117
C502
C512
C517
C511
D101 D102
D104 D108
E101
E103
0 |
O n
[ T
co, [lkg-cO,/m? [co, I It
B1 0.4 B1 0.3 c103
C1 0.4 c105 c10.7
c111 c112 c125
Cl26 C127 C128
C130 C52.4




Al1/0]2]|0 0,00 4
1133 0,052
1-7-
1,445.85 | m? 1 O 1
- 0 |
n O O
n O O
O O O
8,81 |7 O O ]
28
= x 0.0258 78 |kl
= 152 |t
_ 8t
= 160 |t
2
1000/ 105.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 37,899.6 | 45.00 1,705.5 0.014 85.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh | 138,004.0 9.76 1,346.9 0.489 67.5
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,052.4 152.5
| m?® 11,637.0 0.251 2.9
| m?® 11,637.0 0.439 51
8.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 c108
C106 c123
C109 C115
Cl14 C116
C501 c117
C504 C502
C512
C517
C511
D101 D102
D103 D105
D104 D108
D106
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0_4 C1 0.4 C1 0.5
c11.1 C11.2 C11.3
C12.0 C125 C1 2.6
Cl27 Cl2.8
C1209 C5 0.9 C5 2.0
C5 2.1 C5 2.2 C52.3
C5 2.5 D1 0_7




Al1/0]2]|0 0,0 0|5
1/ 3|4 0, 0| 8|6
4- 2 -
1,828.64 | m? "1 O 1
- 0 |
n O O
n O O
O O O
8,81 |7 O O ]
28
= x 0.0258 97 [ki
= 190 |t
_ 11 |t
= 201 |t
2
1000/ 103.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 59,681.3 | 45.00 2,685.7 0.014 133.9
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 1,000.0 | 36.70 36.7 0.019 2.5
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 109,787.0 9.76 1,071.5 0.489 53.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,793.9 190.1
| m?® 15,956.0 0.251 4.0
| m?® 15,956.0 0.439 7.0
11.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B104
B105 B106
B107
c101 c108
C106 c111
C109 c123
Cl14 C115
C501 C116
C504 c117
C506 C502
C503
D101 D102
D103 D108
D104
D106
E101
E103
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 03 C10.4 C10.5
C1 0.7 Cl1.2 C11.3
C125 C12.6 Cl28
C1209 C5 0.9
C5 1.0 C5 2.2 C5 2.4




Al1/0]2]|0 0,0 0|6
1/ 3|4 0, 0| 8|6
6-2-
5,611.32 | m? 1 O 1
- 0 |
n O O
O O O
O O n
71511 O O n
28
= x 0.0258 437 |kl
= 847 |t
_ 12 |t
= 859 |t
2
1000/ 150.9 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
| Nm®| 137,710.6 | 45.00 6,197.0 0.014 309.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh|[1,101,581.0 9.76 | 10,751.4 0.489 538.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
16,948.4 847.7
| m® 18,072.0 0.251 45
| m® 18,072.0 0.439 7.9
12.5
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 C111
C109 c123
C114 C116
C402 C126
C404 C117
C409 C401
C413 c417
D101 D102
D104 D108
D106
E101 E106
E103 E108
E |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.4 B1 0.3 c103
c105 c112 c113
C120 Cl124 C125
CL27 c128 c13¢
c4 0.7 c416
ca18 C42.0




Al1|0|2]0 0/0/0]|7
1132 0|0/ 2|1
4 - 114 -
16,495.77 | m? 1 o1
- 0 |
= O O
O O O
O O =
9|5 1|1 O O n
28
= x 0.0258 556 [kl
= 1,079 |t
_ 10 [t
= 1,089 |t
2
X 1000/ 65.4 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
O [Nm®| 73,626.2 | 45.00 3,313.2 0.014 165.2
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 8 O | kwh 00| 9.28 0.0 0.489 0.0
O |kwh|1,870,603.0| 9.76 | 18,257.1 0.489 914.7
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
21,570.3 1,079.9
O m® | 14,957.0 0.251 3.8
O m® | 14,957.0 0.439 6.6
10.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 C111
C109 c123
C114 C125
C501 C115
C504 C116
C506 C126
C117
C503
D101 D102
D103 D105
D104 D108
D106
E101
E103
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It
B1 04 B1 0.3 c102
C1 0.4 C107 c112
c113 C120 C121
C124 Cl 2.7
c128 129 C5 0.9
C5 1.0 c5 11 C52.3
C5 2.4




Al1/0]2]|0 0,008
1132 0,031
1- 318 -
9,318.65 | m? 1 O 1
- 0 |
n O O
O O O
O O n
95|11 O O n
28
= x 0.0258 334 |kl
= 648 |t
_ 8t
= 656 [t
2
1000/ 69.5 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
| Nm®| 65,061.7 | 45.00 2,927.8 0.014 146.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh |1,027,859.0 9.76 | 10,031.9 0.489 502.6
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
12,959.7 648.6
| m® 12,180.0 0.251 3.1
| m® 12,180.0 0.439 53
8.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 C104
C106 c108
C109 C111
C114 c123
C501 C115
C504 C116
C506 C126
C117
C503
D101 D102
D103 D105
D104 D108
E101
0 |
O n
[ T
co, [lkg-cO,/m? [co, I It
B1 04 B1 0.3 c102
C120 c122 c125
CL2.7 C128 C130
C5 0.9 C5 2.4




Al1/0]2]|0 0,009
1133 0,061
7-20-1
6,357.42 | m? m 1 O 1
. I
O n O
O O O
O O =
81212 O O ]
28
= x 0.0258 89 |kl
= 173 |t
_ 1]t
= 174 |t
2
1000/ 27.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWh | 354,009.0 9.76 3,455.1 0.489 173.1
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,455.1 173.1
| m® 2,884.0 0.251 0.7
| m® 2,884.0 0.439 1.3
2.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
C101 C104
C106 c108
C109 C111
C114 C113
C501 c123
C504 C115
C126
C117
C503
D104 D105
D108
0 |
O n
[ T
co, [lkg-cO,/m? [co, I It
c107 c105
c122 Cl2.4




Al1/0]2]|0 0,010
1133 0,051
2-17-1
3,249.20 | m? "1 O 1
- 0 |
n O O
O O O
O O n
8/ 5/3|9 O O ]
28
= x 0.0258 41 |kI
= 81 |t
_ 1]t
_ 82 |t
2
1000/ 24.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 985.0 | 45.00 44.3 0.014 2.2
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 161,531.0 9.76 1,576.5 0.489 79.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,620.9 81.2
| m® 1,936.0 0.251 0.5
| m® 1,936.0 0.439 0.8
1.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202

A203

A204

B101 B106

c101 C104

C106 C108

C109 C111

C114 C123

C501 C115

C504 Clle

C506 C126

c117
C503

D103 D102

D104 D108

E103

O |
O ]
l co, | e

co, |[ka-com* |co, | It

cL22

[oNQ)
[
OIN
©'~

C129




Al1/0|20 0/0|1 3
1,33 00|56
4-8-
2,015.91 | m? 1 o1
™ O |
| | O O
O O O
O O [ |
8/5[/3 9 O O n
28
= x 0.0258 31 |kl
= 60 |t
_ 2 It
_ 62 |t
2
1000/ 29.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O |Nm®| 2,428.2| 45.00 109.3 0.014 5.4
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 s | O |kwnh 00| 9.28 0.0 0.489 0.0
O |kwh|112,026.0 | 9.76 1,093.4 0.489 54.8
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,202.6 60.2
o | md 2,986.0 0.251 0.7
o | md 2,986.0 0.439 1.3
2.1
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)%

A 4




A202
A203
A204
B101 B106
B108
C101 C104
C106 c108
C109 C111
C114 c123
C501 C115
C504 C116
C506 C126
C117
C503
D101 D108
D104
E101 E106
E103
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
c125 c102
c105 C10.7 c112
C113 c127 C130
C5 10 C5 1.1




Al1/0]2]|0 0,014
1132 0,024
3- 173 -
1,916.90 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O n
8/ 5/3|9 O | ]
28
= x 0.0258 31 |ki
= 63 It
_ 2|t
= + 65 t
2
1000/ 32.8 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 2,527.0 | 50.80 128.4 0.016 7.6
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 113,651.0 9.76 1,109.2 0.489 55.6
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,237.6 63.2
| m?® 3,482.0 0.251 0.9
| m?® 3,482.0 0.439 1.5
2.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B108
B105
c101 C104
C106 C108
C109 c111
C114 C123
C501 C115
C504 C116
C506 C126

C117

C503
D101 D108
D104

|
O
| co, | oo
co, [lkg-com? |co, I It

C105
Cc113

Cl125
c107
c128

C103
c112
c511




Al1/0]2]|0 0,015
1133 0,0 6|5
3- 182 -
2,386.00 | m? 1 O 1
- 0 |
n O O
O O O
O O n
8/ 5/3|9 O O ]
28
= x 0.0258 34 |kl
= 66 |t
_ 1]t
_ 67 |t
2
1000/ 27.6 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 2,030.9 | 45.00 91.4 0.014 4.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 125,915.0 9.76 1,228.9 0.489 61.6
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,320.3 66.1
| m® 2,668.0 0.251 0.7
| m® 2,668.0 0.439 1.2
1.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B108
B105
C101 C104
C106 c108
C109 C111
C114 c123
C501 C125
C504 C115
C506 C116

C126

C117
D101 D102
D104 D108
E101 E106
E103

|
O
| €O, I &
co, [lkg-cO,/m? [co, I It

a0
[l
=N
= O

c127
cL22

C105
C1 30




Al1/0]2]|0 0,016
1133 0,043
1- 315 -
8,693.86 | m? 1 O 1
- 0 |
n O O
O O O
O O n
8,042 O O ]
28
= x 0.0258 432 |kl
= 839 |t
_ 15 |t
= 854 |t
2
1000/ 96.5 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
| Nm®| 109,037.7 | 45.00 4,906.7 0.014 244.7
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh |1,216,740.0 9.76 | 11,875.4 0.489 595.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
16,782.1 839.7
| m® 22,744.0 0.251 5.7
| m® 22,744.0 0.439 10.0
15.7
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 C104
C106 c108
C109 c111
Cl14 c123
C501 C115
C504 C116
C506 C126
c117
C503
D101 D102
D103 D105
D104 D107
D106 D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 03 C1 0.2
C10.3 C105 C1 0.7
Cl1.2 C11.3 C11.8
C11.9 C1 2.0 c121
Cl 2.2 Cl25 Cl2.8
C129 C1 3.0 C5 0.9
C5 1.0 C5 1.1 C5 2.0
C5 2.2 C5 2.3 C5 2 4




Al1/0]2]|0 0,017
1133 0,0 6|3
1-8-
9,002.37 | m? 1 O 1
- 0 |
n O O
O O O
O O n
8,042 O O ]
28
= x 0.0258 372 |kl
= 723 |t
_ It
= 732 |t
2
1000/ 80.3 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
| Nm®| 19,076.9 | 45.00 858.5 0.014 42.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh [1,391,230.0 9.76 | 13,578.4 0.489 680.3
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
14,436.9 723.1
| m® 13,481.0 0.251 3.4
| m® 13,481.0 0.439 5.9
9.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 C104
C106 c108
C109 c111
Cl14 c123
C501 C115
C504 C116
C506 C126
c117
C503
D101 D105
D104 D107
D106 D108
E101 E104
E103 E106
E114 E108
E123 E129
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
E125 B1 0.4 C1 0.2
C10.3 C105 C1 0.7
Cl1.2 C11.3 C11.8
C11.9 C1 2.0 Cl1 2.
C125 C1 27 C1 2.
C1 30




Al1|0|2]0 0|0 1|8
1134 0/0| 8|8
B o 4- 20 2
11,029.74 | m? 1 o1
- 0 |
= O O
O O O
O O =
8,042 O O =
28
= x 0.0258 695 |kl
= 1,347 |t
] 26 |t
= 1,373 |t
2
1000/ 122.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O |[Nm®|271,790.4 | 45.00| 12,230.6 0.014 609.9
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 O | kwh 0.0| 9.97 0.0 0.489 0.0
22 8 O | kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|1,508,485.0 | 9.76 | 14,722.8 0.489 737.6
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
26,953.4 1,347.5
O m® | 38,278.0 0.251 9.6
O m® | 38,278.0 0.439 16.8
26.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 C104
C106 c108
C109 c111
Cl14 c123
C501 C115
C504 C116
C506 C126
c117
C503
D101 D102
D103 D105
D104 D107
D106 D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 03 C1 0.2
C10.3 C105 C1 0.7
Cl1.2 C11.3 C11.8
C11.9 C1 2.0 C122
C125 C1 27 C12.8
C1209 C1 3.0 C5 0.9
C5 1.0 C5 1.1 520
C5 2.1 C5 2.2
C52.4 C52.5




Al1/0]2]|0 0,019
1/ 3|4 0,0| 8|7
2-1-
7,199.65 | m? 1 O 1
- 0 |
n O O
O O O
O O n
8,041 O O ]
28
= x 0.0258 51 Jki
= 99 It
_ 2|t
= 101 |t
2
1000/ 13.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 960.9 | 45.00 43.2 0.014 2.2
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 198,129.0 9.76 1,933.7 0.489 96.9
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,977.0 99.0
| m?® 4,344.0 0.251 1.1
| m?® 4,344.0 0.439 1.9
3.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 C104
C106 c108
C109 c111
Cl14 c123
C501 C115
C504 C116
C506 C126
c117
C503
D101 D102
D103 D105
D104 D108
D106
E103 E106
E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0_4 B1 03 C1 0.3
C11.2 C11.3 c1 1§
C11.9 Cl25 c12f
C1 2. C12.9
C13.0 C5 0.9 C5 1.0
C5 1.1 C5 2.0 C5 2.1
C5 2.2 C5 2.3 C5 2.4
C5 2.5




Al1|0|2]0 01021
1134 0/0| 8|8
B O7-2-
1,881.00 | m? 1 o1
- 0 |
= O O
O O O
O O =
8,041 O O ]
28
= x 0.0258 51 |kI
= 100 [t
] 2 |t
= 102 |t
2
X 1000/ 53.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm® 185.6 | 45.00 8.4 0.014 0.4
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 8 O | kwh 00| 9.28 0.0 0.489 0.0
O |kwh|204,413.0| 9.76 1,995.1 0.489 100.0
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
2,003.4 100.4
O m?® 3,540.0 0.251 0.9
O m?® 3,540.0 0.439 1.6
2.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202

A203
A204
B101 B106
B102 B107
B105 B108
C101 C104
C106 c108
C109 c123
C114 C125
C501 C115
C504 C116
C506 C126
C117
C503
D101 D102
D103 D108
D104
E101
E103
|
O
| €O, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 c102
c103 c107 c113
c118 C1109 C12.0
c122 c127 cr28
C129 C130 C5 0.9
C51.0 c5 1.1 C52.1
C5 2.2 C5 2.4 C5 2.5




Al1/0]2]|0 0,022
1/ 3|4 0, 0| 8|6
1-2-
493.98 |m? 1 O 1
- 0 |
n O O
O O O
O O n
8,041 O O ]
28
= x 0.0258 92 [ki
= 180 [t
_ 4 1t
= 184 |t
2
1000/ 364.3 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 1,143.2 | 50.80 58.1 0.016 34
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 361,495.0 9.76 3,528.2 0.489 176.8
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,586.3 180.2
| m?® 6,454.0 0.251 1.6
| m?® 6,454.0 0.439 2.8
45
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 C108
C106 c111
C109 C112
C114 C113
C501 C123
C504 C115
C506 C116
C117
C503
D101 D105
D104 D108
E101 E106
E103 E108
|
O
| co, | oo
co, [lkg-com? |co, I It
B1 03 B1 0.4 Cc102
C103 C104 Cc105
C107 118 c119
C120 cL22 c125
Cc126 clL27 C1209
C130 C51.0 c511
C524




All1/0|2|0 0|0|2]|3
1133 0|0|0]|2
2-99 1
68.70 |m? 1 o1
- 0 |
™ O O
O O O
O O [~
8/0| 4|6 O O ™
28
= x 0.0258 66 |kl
= 128 |t
_ 0t
= 128 |t
2
1000/ 1,863.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O | Nm® 125.7 | 45.00 5.7 0.014 0.3
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 g | O |kwh 00| 9.28 0.0 0.489 0.0
O |kwh|263,143.0| 9.76 2,568.3 0.489 128.7
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
2,573.9 129.0
O m® 900.0 0.251 0.2
O m° 900.0 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B108
c101 C104
C106 c108
C109 c111
Cl14 C112
C501 C113
C504 C122
C125
C115
C503
D101 D108
D104
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It




Al1/0]2]|0 0,024
1132 0,021
3-3-
8,482.90 | m? "1 O 1
- 0 |
n O O
O O O
O O n
81212 O O ]
28
= x 0.0258 284 |kl
= 550 |t
_ 2|t
= 552 It
2
1000/ 64.8 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 69,876.6 | 45.00 3,144.4 0.014 156.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh | 805,762.0 9.76 7,864.2 0.489 394.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
11,008.7 550.8
| m® 3,610.0 0.251 0.9
| m® 3,610.0 0.439 1.6
2.5
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 c108
C106 c111
C109 C112
Cl14 c123
C501 C115
C504 C116
C506 c117
c118
C503
D101 D102
D103 D108
D104
E103 E106
E108
|
0
| Co | e
Cco, [lkg-com? |co, I It

c107
Cl127
C5009
C5 2 4

B1 0 4
Cl125
c128
C510

C103
Cl126
C130
c511




Al1/0]2]|0 0,0/ 8|0
1133 0,052
3-86-
2,933.00 | m? 1 O 1
- 0 |
n O O
O O O
O O n
81212 O O ]
28
= x 0.0258 83 |kl
= 161 |t
_ 1]t
= 162 |t
2
1000/ 54.8 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 25,895.7 | 45.00 1,165.3 0.014 58.1
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 211,171.0 9.76 2,061.0 0.489 103.3
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,226.3 161.4
| m® 2,097.0 0.251 0.5
| m® 2,097.0 0.439 0.9
1.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C122
C114 c123
C501 C115
C504 C116
C117
C120
C503
D101 D102
D103 D108
D104
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 C102
C1 0.4 c10.7 c125
C1256 c127 c128
C130 C5 0.9 C5 2.4




Al1/0]2]|0 0,0 2|6
1132 0,0 3|5
1-16-2
1,209.18 | m? 1 O 1
- 0 |
n O O
O O O
O O n
81212 O O ]
28
= x 0.0258 32 |kl
= 63 It
_ 1]t
= 64 It
2
1000/ 52.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 10,602.3 | 45.00 477.1 0.014 23.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 82,093.0 9.76 801.2 0.489 40.1
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,278.3 63.9
| m® 1,651.0 0.251 0.4
| m® 1,651.0 0.439 0.7
1.1
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D108
D104
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2 C10.3
C1 0.4 C105 C1 0.7
2.2 C125 C12.6
Cl2.8 C13.0 C5 0.9
C5 1.0 C5 1.1 C52.4
525




b=
All|0 0 0|0 2|7
13 00|13
6 - 214 -
1,550.55 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O n
812 |1 O ]
28
= x 0.0258 52 Jki
= 101 |t
_ o
= + 101 t
2
1000/ 65.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh | 208,195.0 9.76 2,032.0 0.489 101.8
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,032.0 101.8
O m?® 1,368.0 0.251 0.3
O m?® 1,368.0 0.439 0.6
0.9
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D104 D108
E |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
c102 c103
C1 0.4 C105 C1 0.7
c129 C130 c5 1.1
C5 2.4




Al1/0]2]|0 0,028
1/ 3|4 0, 0| 8|8
¥ 5-10- 4
2,341.85 | m? m 1 o1
- 0 |
= O O
O O O
O O =
81212 O O ]
28
= x 0.0258 85 |kl
= 165 [t
_ 1]t
= 166 [t
2
1000/ 70.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
| Nm®| 27,663.7 | 45.00 1,244.9 0.014 62.1
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 211,622.0 9.76 2,065.4 0.489 103.5
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,310.3 165.6
| m® 2,077.0 0.251 0.5
| m® 2,077.0 0.439 0.9
1.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116
C117
C503
D101 D102
D103 D108
D104
E114 E125
E127
E128
E129
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 04 c102
C1 0.4 C107 c125
C126 c127 C128
C130 C5 0.9 c5 11
C5 2.4 E1 0_4 E1 0.5
E1 0.9 E1 1.0 E11.1
E1 12 E1 13 E1 2.4




110,20 0|07 8
1132 00|13
2-36-
2,000.97 | m? 1 O 1
- O |
[ ] O O
O O O
O O [ ]
8| 2|12 O ]
28
= x 0.0258 54 Jki
= 104 |t
_ 1]t
= 105 [t
2
x 1000/ 51.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 15,035.3 | 45.00 676.6 0.014 33.7
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 ] 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
O kWh| 145,146.0 9.76 1,416.6 0.489 71.0
17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,093.2 104.7
O m?® 1,861.0 0.251 0.5
O m?® 1,861.0 0.439 0.8
1.3
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D108
D104
E101
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0.4 C1 0.2
C105 C1 0.7 C122
C125 C12.6 C127
C12.8 C13.0 C5 0.9
C5 1.1




All1,0,20 0|0 2|9
1132 0|0 2|5
7-521
1,747.43 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O [
81211 O O ]
28
= x 0.0258 41 1kl
= 80 |t
_ o
_ 80 |t
2
1000/ 45.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 10,675.7 | 45.00 480.4 0.014 24.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 116,037.0 9.76 1,132.5 0.489 56.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,612.9 80.7
O m?® 861.0 0.251 0.2
O m?® 861.0 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107

B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116

C117

C503
D101 D102
D103 D105
D104 D108

|
O
| €O, I &
co, [lkg-cO,/m? [co, I It
C104 C105 C120
c121 c122
c125 C126 C127
Ci28 C130 C5 0.9
C5 10 C5 11 C5 2.4




All1,0,20 0|0| 3|2
1132 0|0 2|5
2-10 1
2,599.29 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O [
81211 O O ]
28
= x 0.0258 84 ki
= 163 |t
_ 1]t
= 164 |t
2
1000/ 62.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 29,725.6 | 45.00 1,337.7 0.014 66.7
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 198,583.0 9.76 1,938.2 0.489 97.1
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,275.8 163.8
O m?® 1,661.0 0.251 0.4
O m?® 1,661.0 0.439 0.7
1.1
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116
C117
C503
D101 D102
D103 D105
D104 D108
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It
C1 0.4 c105 c1 2,
c121 Cl2.2
c125 C126 CL27
Ci28 C130 C5 0.9
C5 10 C5 11 C5 2.4




All1,0,20 0|0 3|3
1132 0|0 3|5
4 -1-
2,002.78 | m? 1 O 1
- 0 |
[ ] O O
[ ] O O
O O O
91821 O | ]
28
= x 0.0258 49 1kl
= 95 It
_ 1]t
_ 96 |t
2
1000/ 47.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 156.6 | 45.00 7.0 0.014 0.4
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWwh | 195,005.0 9.76 1,903.2 0.489 95.4
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,910.3 95.7
O m?® 1,664.0 0.251 0.4
O m?® 1,664.0 0.439 0.7
1.1
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D104
E101 E106
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
C102 C1 0.4
C105 c118 c122
c125 126 Cl27
Cl28 Cl29 C130
C5 0.9




Al1/0|20 0/0|3 4
1132 0/0|3 4
3-8-
5,173.63 | m? 1 o1
™ O |
| | O O
O O O
O O [ |
9511 O O n
28
= x 0.0258 334 [kl
- 647 |t
_ 10 |t
- 657 |t
2
1000/ 125.0 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O | Nm®|137,890.4 | 45.00 6,205.1 0.014 309.4
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 s | O |kwnh 00| 9.28 0.0 0.489 0.0
O |kwh|691,760.0 | 9.76 6,751.6 0.489 338.3
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
12,956.6 647.7
O | m®| 15,764.0 0.251 4.0
O | m®| 15,764.0 0.439 6.9
10.9
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)%

A 4




I.b'o'@

A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D103 D107
D104
D106
E101 E106
0 |
||
| €O, I &
co, [lkg-cO,/m? [co, I It
B1 0.4 C102
C1 0.4 c122 c125
C1256 c127 c128
Cl2 C130 C5 0.9
C5 2 C522 C52.3
C5 2




All1/0|2|0 0/0|3]|5
1132 0/0|3]|5
4-18-1
1,549.43 | m? 1 o1
- 0 |
™ O O
O O O
O O =
81211 O O ]
28
= x 0.0258 37 |kl
= 73 |t
_ 0t
- 73 |t
2
X 1000/ 47.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm® 103.4 | 45.00 4.7 0.014 0.2
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 0.489 0.0
2 g | O |[kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|149,906.0 | 9.76 1,463.1 0.489 73.3
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,467.7 73.5
O m?® 833.0 0.251 0.2
O m?® 833.0 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D104
E101 E106
|
O
| co, I &
co, [lkg-cO,/m? [co, I It

Cc102

Cl 25
Cc128

C5 2 4

Cl104
C126
Cl129




Al1/0]2]|0 0,072
1132 0,0 3|5
7-6-
1,669.23 | m? 1 O 1
- 0 |
n O O
O O O
O O n
81211 O O ]
28
= x 0.0258 33 Jki
= 64 It
_ 0|t
= 64 |t
2
1000/ 38.3 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 11,423.0 | 45.00 514.0 0.014 25.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 79,894.0 9.76 779.8 0.489 39.1
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,293.8 64.7
| m?® 368.0 0.251 0.1
| m?® 368.0 0.439 0.2
0.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 C108
C106 c111
C109 C112
C114 C113
C501 C123
C504 C115
C116
C117
C503
D101 D102
D104
E101 E106
|
O
[
Co, [lkg-com? |co,

00

PR
NONO
IN

0
ol

[$2 00 5

C102
c122
Cl127
C130




=
Al1/0]2]|0 0,0 3|6
1/ 3|4 0, 0| 8|3
¥ 3- 110 -
7,392.32 | m? 1 o1
- 0 |
= O O
™ O O
O O O
918 2|1 O ]
28
= x 0.0258 211 |kl
= 410 |t
_ 51t
= + 415 |t
2
1000/ 55.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
| Nm®| 66,667.3 | 45.00 3,000.0 0.014 149.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 533,117.0 9.76 5,203.2 0.489 260.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
8,203.2 410.3
| m® 7,276.0 0.251 1.8
| m® 7,276.0 0.439 3.2
5.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 c123
C114 C115
C501 C116
C504 C126
C117
C120
C503
D103 D102
D104 D108
D106
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 04 C1 0.4 C1 2.7
c129 C130 C5 0.9
C52.3




Al1/0]2]|0 0,0 3|7
1/ 3|4 0,091
4-9-
2,282.84 | m? "1 O 1
- 0 |
n O O
O O O
O O n
81211 O O ]
28
= x 0.0258 83 |ki
= 161 |t
_ 1]t
= 162 |t
2
1000/ 70.5 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 27,910.2 | 45.00 1,256.0 0.014 62.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh | 202,864.0 9.76 1,980.0 0.489 99.2
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,235.9 161.8
| m?® 2,034.0 0.251 0.5
| m?® 2,034.0 0.439 0.9
1.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C122
C114 c123
C501 C125
C504 C115
C506 C116
C117
C503
D103 D102
D104 D108
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 04 C1 0.4 C1 0.5
C126 c127 c128
C5 0.9 C51.0 c5 11




Al1/0]2]|0 0, 0| 3|8
1/ 3|4 0,081
¥ 2-19-3
1,491.50 | m? m 1 o1
- 0 |
n O O
O O O
O O =
81211 O O ]
28
= x 0.0258 59 |kl
= 114 |t
_ 1]t
= 115 |t
2
1000/ 76.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
| Nm®| 22,548.2 | 45.00 1,014.7 0.014 50.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 131,106.0 9.76 1,279.6 0.489 64.1
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,294.3 114.7
| m® 1,607.0 0.251 0.4
| m® 1,607.0 0.439 0.7
1.1
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 c123
C106 C125
C109 C115
Cl14 C116
C501 C126
C504 c117
C506 C120
c127
C503
D101 D108
D104
E123 E125
E104
E129
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0_4 C1 0.2
C10.4 c11.1 C11.3
C130




All1/0|2|0 0/0|3]|9
1134 0|0|1]|3
6 -64
1,752.80 | m? 1 o1
- 0 |
™ O O
O O O
O O =
81211 O O ]
28
= x 0.0258 44 [kl
= 86 |t
_ 0t
- 86 |t
2
X 1000/ 49.0 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm® 91.8 | 45.00 4.1 0.014 0.2
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 0.489 0.0
2 g | O |[kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|176,583.0| 9.76 1,723.5 0.489 86.3
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,727.6 86.6
O m?® 878.0 0.251 0.2
O m?® 878.0 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c107
C106 c108
C109 C111
C114 C112
C501 c123
C504 C115
C116
C117
C503
D101 D102
D104 D108
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 04 c102
C1 0.4 c118 C120
c125 Cl126 Cl27
C130 c511




A 0/ 210 00|40
3|4 0/0|8|3
o7 - 117 -
960.47 | m? 1 o1
- 0 |
= O O
O O O
O O =
8 11 O ]
28
= x 0.0258 32 |kl
= 62 |t
] 0|t
- 62 |t
2
1000/ 64.5 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O [Nm® 100.5 | 45.00 4.5 0.014 0.2
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 0.489 0.0
22 8 O | kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|127,479.0| 9.76 1,244.2 0.489 62.3
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
1,248.7 62.6
O m?® 669.0 0.251 0.2
O m?® 669.0 0.439 0.3
0.5
=( /1,000)x
= x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C113
C114 c123
C501 C115
C504 C116
C506 C117
C120
C503
D104 D108
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 c102
C1 0.4 c105 C1 0.7 C126
c127 C130 C510
C5 2.4




Al1/0]2]|0 0,041
1/ 3|4 0,0| 8|7
1-2-
2,898.66 | m? 1 O 1
- 0 |
n O O
O O O
O O n
81211 O O ]
28
= x 0.0258 65 |kl
= 127 |t
_ 1]t
= 128 |t
2
1000/ 43.8 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 309.3 | 45.00 13.9 0.014 0.7
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWwh | 259,633.0 9.76 2,534.0 0.489 127.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,547.9 127.7
| m?® 2,537.0 0.251 0.6
| m?® 2,537.0 0.439 1.1
1.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c107
C106 c108
C109 C111
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D103 D105
D104 D108
|
O
| €O, I &
co, [lkg-cO,/m? [co, I It

lH
g1 - 0o
(o)}

00
onN
©

o

0

O,
Q
N

Cl104
Cl125
C130




All1/0|2|0 0|0|4]|2
1134 0|0| 8|6
2-9-
2,176.50 | m? 1 o1
- 0 |
™ O O
O O O
O O =
81211 O O ]
28
= x 0.0258 41 [kl
= 81 |t
_ 0t
- 81 |t
2
X 1000/ 37.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm® 100.5 | 45.00 45 0.014 0.2
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 0.489 0.0
2 g | O |[kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh| 165,473.0| 9.76 1,615.0 0.489 80.9
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,619.5 81.1
O m?® 931.0 0.251 0.2
O m?® 931.0 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B108
B105
C101 c123
C106 C125
C109 C115
C114 C117
C501 c118
C504 C120

c127

C130

C503
D101 D102
D104 D108

|
O
| €O, I &
co, [lkg-cO,/m? [co, I It

Ci107
C511

Cc102
c111
C5 2.4

00
PRGNS
lHIO
w b




Al1/0]2]|0 0,043
1/ 3|4 0,0| 8|4
B 8- 212 -
3,871.91 | m? 1 o1
- 0 |
n O O
O O O
O O =
81211 O O ]
28
= x 0.0258 156 |kI
= 303 |t
_ 1]t
= 304 |t
2
1000/ 78.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
| Nm®| 41,353.5 | 45.00 1,860.9 0.014 92.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWwh | 430,903.0 9.76 4,205.6 0.489 210.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
6,066.5 303.5
| m® 1,996.0 0.251 0.5
| m® 1,996.0 0.439 0.9
1.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




C524

A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C504 c123
C115
C116
C117
C503
D101 D102
D103 D108
D104
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 B1 0_4 C102
c103 C1 0.4 c107
C12.0 C122 cl25
C126 c12.7 C12.¢
C130 C5 0.9 C5 1.0
c5 1.1 C52.0




All1,0,20 0|0 7|9
1134 0| 0| 8| 4
¥ 5-38-1
2,498.13 | m? "1 O 1
- O |
n O O
O O O
] O [
81211 O O ]
28
= x 0.0258 54 Jki
= 106 |t
_ o]t
= 106 |t
2
= x 1000/ 42.4 1kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
O kwh| 217,740.0 9.76 2,125.1 0.489 106.5
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,125.1 106.5
O m?® 812.5 0.251 0.2
O m?® 812.5 0.439 0.4
0.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c107
C106 c108
C109 C111
C114 C112
C504 c123
C506 C115
C116
C117
C503
D101 D108
D104
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 C102
C1 0.4 c118 C12.0
C1256 c127 C128
C130 C5 1.0 c5 11
C5 2.4




Al1/0]2]|0 0,044
1133 0,052
6- 94 1
3,677.64 | m? m 1 o1
- 0 |
n O O
n O O
O O O
918 2|1 O O ]
28
= x 0.0258 155 |kI
= 300 |t
_ 2|t
= 302 |t
2
1000/ 81.5 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 68,289.3 | 45.00 3,073.0 0.014 153.2
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 301,633.0 9.76 2,943.9 0.489 147.5
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
6,017.0 300.7
| m® 4,034.0 0.251 1.0
| m® 4,034.0 0.439 1.8
2.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C116
C117
C503
D101 D102
D103 D105
D104 D108
D106
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It
C1 0.4 c105 c11p
C1109 cL22 C126
c127 C1 2.9
C5 0.9 C51.0 C5 2.4




Al1/0]2]|0 0,045
1133 0,051
1- 117 -
7,583.44 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O n
9/5/1 |1 ] ]
28
= x 0.0258 298 |kl
= 578 |t
_ 7|t
= + 585 t
2
1000/ 76.2 |kg-CO,/m
GJ
t
=( /1000)x = x x 44/12
| Nm®| 72,767.8 | 45.00 3,274.6 0.014 163.3
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWwh | 849,105.0 9.76 8,287.3 0.489 415.2
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
11,561.8 578.5
| m?® 10,660.0 0.251 2.7
| m?® 10,660.0 0.439 4.7
7.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105
C101 c108
C106 C111
C109 C112
C114 c123
C501 C115
C504 C116
C117
c118
C503
D101 D102
D103 D105
D104 D108
D106
E101 E125
E110
E111
E129
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It
c102 c103
C1 0.4 C105 Cc10.7
C1109 C120 Cl24
Cl26 c127 c128
C129 C130 C5 0.9
C5 1.1 E1 0_ E1 0_4
E1 0.5 E1 0.9 E1 3.9




Al1/0]2]|0 0,0 4|6
1133 0,051
6-38-1
1,896.60 | m? 1 O 1
- 0 |
n O O
O O O
O O n
81211 O O ]
28
= x 0.0258 50 JkI
= 97 It
_ 0|t
_ 97 |t
2
1000/ 51.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 18,646.8 | 45.00 839.1 0.014 41.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 113,361.0 9.76 1,106.4 0.489 55.4
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,945.5 97.3
| m?® 990.0 0.251 0.2
| m?® 990.0 0.439 0.4
0.7
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116
C117
C503
D101 D102
D103 D108
D104
E |
O n
| co, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 B1 0_4 C102
c103 C1 0.4 c107
C12.0 C122 cl25
C126 c12.7 Cl12.¢
Cl209 C130 C5 0.9
C5 10 C5 1.1
C52.0 C5 2.4




Al1/0]2]|0 0, 0|48
1132 0,014
1- 117 -
3,455.35 | m? "1 O 1
- 0 |
[ ] O O
n O O
O O O
918 2|1 O | ]
28
= x 0.0258 78 |kl
= 153 |t
_ 1]t
= + 154 t
2
1000/ 44.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 14,892.3 | 45.00 670.2 0.014 33.4
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kWh | 244,666.0 9.76 2,387.9 0.489 119.6
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,058.1 153.1
| m?® 1,974.0 0.251 0.5
| m?® 1,974.0 0.439 0.9
1.4
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D108
D104
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C102 C10.3
C1 0.4 C105 C12.0
C12.2 C125 C12.6
Cl27 c128 C12.9
C13.0 C5 0.9 C5 1.0
C5 1.1




Al1/0]2]|0 0,049
1132 0,011
2- 8-
6,055.99 | m? 1 O 1
- 0 |
n O O
O O O
O O n
95|11 O O n
28
= x 0.0258 160 |kI
= 311 |t
_ 2|t
= 313 |t
2
1000/ 51.3 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 43,361.2 | 45.00 1,951.3 0.014 97.3
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwWh | 437,539.0 9.76 4,270.4 0.489 214.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
6,221.6 311.3
| m® 3,066.0 0.251 0.8
| m® 3,066.0 0.439 1.3
2.1
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B103
B104
B107
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D105
D104 D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2 C1 0.4
C10.5 C1 0.7 C12.0
c12.1 C122 Cl25
Cl 2.6 C1 2.7 C128
C1 3.0 C5 0.9 C5 1.0
C5 1.1 C5 2.4 C5 2.5




Al1/0]2]|0 0,051
1133 0,073
1- 52 -
3,194.94 | m? 1 O 1
- 0 |
n O O
n O O
O O O
918 2|1 O O ]
28
= x 0.0258 86 |kl
= 167 |t
_ 1]t
= 168 [t
2
1000/ 52.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 27,016.1 | 45.00 1,215.7 0.014 60.6
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 219,207.0 9.76 2,139.5 0.489 107.2
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,355.2 167.8
| m® 2,754.0 0.251 0.7
| m® 2,754.0 0.439 1.2
1.9
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




lOI\J

A202
A203
A204
B101 B106
B105 B107
B108
c101 C107
C106 C108
C109 c111
C114 C112
C501 C113
C504 C123
C506 C115
C116
C503
D101 D102
D103 D108
D104
O |
| |
| co, | oo
co, [lkg-com? |co, I It
c102 CL04
25 C126 c1L27
C1 C130 C50.9
51

c511




All1,0,20 0|0|5]|2
1133 0|0| 5|4
4 - 281 -
1,468.93 | m? "1 O 1
- O |
n O O
O O O
] O [
81211 O | ]
28
= x 0.0258 41 |kl
= 80 |t
_ o]t
= + 80 t
2
= x 1000/ 54.4 1kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 16,254.3 | 45.00 731.4 0.014 36.5
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
O kwh| 90,495.0 9.76 883.2 0.489 44.3
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,614.7 80.7
O m?® 1,230.0 0.251 0.3
O m?® 1,230.0 0.439 0.5
0.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116
C117
C503
D101 D102
D103 D108
D104
0 |
O n
[ T
co, [lkg-cO,/m? [co, I It
C102 C1 0.4
C105 c10.7 c125
C126 c127 c128
C130 C5 0.9 C51.0
c5 1.1




Al1/0]2]|0 0,0| 5|3
1/ 3|4 0,013
5- 362 -
1,453.51 | m? m 1 o1
- 0 |
n O O
O O O
O O =
8/ 5/ 5|9 O O ]
28
= x 0.0258 73 |kl
= 142 |t
_ 3
= + 145 t
2
1000/ 97.6 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm?® 5,756.4 | 45.00 259.0 0.014 12.9
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kWh | 264,854.0 9.76 2,585.0 0.489 129.5
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,844.0 142.4
| m® 4,424.0 0.251 1.1
| m® 4,424.0 0.439 1.9
3.1
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D105
D104 D108
D106
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2 C1 0.4
C10.5 C12.0 c12.1
C125 C12.6 C127
C12.8 Cl209 C13.0
C5 0.9 C5 1.0 C5 1.1
520 C5 2.1 C5 2.2
C5 2.3 C5 2.4 C5 2.5




11020 0|0|5]| 4
1133 0|0|5]|5
2-18-2
1,998.97 | m? 1 o1
- 0 |
™ O O
O O O
O O =
8/ 5/ 5|9 O ]
28
= x 0.0258 45 |kl
= 0 |t
_ 2 |t
- 92 |t
2
X 1000/ 45.0 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG O kg 4,083.0 | 50.80 207.4 0.016 12.2
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 O | kwh 0.0| 9.97 0.0 0.489 0.0
2 g | O |[kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|159,340.0| 9.76 1,555.2 0.489 77.9
17 3 kWh 00| 9.76 0.0 0.489 0.0
1,762.6 90.2
O m?® 3,741.0 0.251 0.9
O m?® 3,741.0 0.439 1.6
2.6
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116

C117

C503
D101 D102
D103 D105
D104 D108
E101 E106
E103 E108

0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It
c102 c103
C1 0.4 C105 C120
c122 Cl2.4 cl25
Cl26 c127 c128
C129 C130 C5 0.9
C51.0 c5 1.1 C52.0
C5 2.4 C5 25




All1,0,20 00| 5|5
1133 0| 0| 4| 4
3- 338 -
2,175.06 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O n
8/ 5/ 5|9 O O ]
28
= x 0.0258 39 [ki
= 77 It
_ 2|t
= + 79 t
2
1000/ 35.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 4,528.8 | 45.00 203.8 0.014 10.2
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 136,879.0 9.76 1,335.9 0.489 66.9
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,539.7 77.1
O m?® 3,283.0 0.251 0.8
O m?® 3,283.0 0.439 1.4
2.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
C101 C104
C106 C105
C109 c107
C114 c108
C501 C115
C504 C116
C126
C117
C503
D101 D102
D104 D105
D108
E101
E103
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It




110,20 0|0| 5|6
1134 0| 0| 8| 4
¥ 5- 150 -
2,305.69 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O [ ]
8/ 5/ 5|9 O ]
28
= x 0.0258 68 |kl
= 133 |t
_ 2 It
= 135 |t
2
x 1000/ 57.6 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 30,005.0 | 45.00 1,350.2 0.014 67.3
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 ] 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
O kwh | 134,507.0 9.76 1,312.8 0.489 65.8
17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,663.0 133.1
O m?® 3,546.0 0.251 0.9
O m?® 3,546.0 0.439 1.6
2.4
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202

A203
A204
B101 B106
B105
c101 C105
C106 C123
C109 C125
C114 C115
C504 C116

C126

C117

C129

C503
D104 D105
D106 D108
E101 E106

|
O
| co, | e
Cco, [lkg-com? |co, I It

C523

C510

C5

2.2




All1,0,20 0|0|5]|7
1132 0|0 3|4
3- 143 -
1,200.00 | m? 1 O 1
- 0 |
[ ] O O
O O O
O O n
8/ 5/ 5|9 O O ]
28
= x 0.0258 35 Jki
= 68 It
_ 1]t
= + 69 t
2
1000/ 56.6 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm®| 12,595.5 | 45.00 566.8 0.014 28.3
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 83,285.0 9.76 812.9 0.489 40.7
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,379.7 69.0
O m?® 2,307.0 0.251 0.6
O m?® 2,307.0 0.439 1.0
1.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 c107
C106 c108
C109 c111
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D104 D105
D106 D107
D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 03 C10.2
C10.3 C10.4 C1 05 c12.1
C122 C12.4
C125 C12.6 C127
Cl29 C1 3.0 C5 1.0
C5 1.1 C5 2.0 C5 2.2
C5 2.3 C5 2.4




110,20 0, 0| 5|8
1/ 3|4 0, 0| 8|3
B 2- 181 -
1,722.06 | m? 1 o1
- 0 |
n O O
O O O
O O n
8/ 5/ 5|9 O ]
28
= x 0.0258 60 [kI
= 117 It
_ 3
= 120 |t
2
x 1000/ 67.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
| Nm®| 12,528.8 | 45.00 563.8 0.014 28.1
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 O kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 183,265.0 9.76 1,788.7 0.489 89.6
17 3 kWh 0.0 9.76 0.0 0.489 0.0
2,352.5 117.7
| m?® 5,763.0 0.251 1.4
| m?® 5,763.0 0.439 2.5
4.0
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D103 D102
D104 D105
D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 0.4 C10.4 C1 0.5
C1 0.7 C11.8 C11.9
C1 2.0 C12.2 C125
C12.6 C12.7 C1 2§
C13.0 C5 0.9 C5 1.0
C5 1.1 C5 2.4




1/0|2]0 0/0|5|9
1132 0/0]2|1
4-298-1
1,450.08 | m? 1 O 1
. I
O O
[ ] O O
O O O
84|11 ] ]
28
= x 0.0258 37 |kl
= 73 |t
_ 1]t
= 74 |t
2
x 1000/ 50.3 |kg-CO,/m
GJ
t
=( /1000)x = x
O | Nm® 9,766.5 | 45.00 439.5 0.014
LPG O kg 0.0 | 50.80 0.0 0.016
O L 0.0 [ 36.70 0.0 0.019
O 0.0
O 0.0
8 O | kwh 0.0 9.97 0.0 0.489
22 8 O | kwh 0.0 9.28 0.0 0.489
O | kwh| 104,857.7 9.76 1,023.4 0.489
17 3 kwh 00| 9.76 0.0 0.489
1,462.9
O m® 1,732.8 0.251
O m® 1,732.8 0.439
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A




A202
A203
A204
B101 B106
B105 B108
C101 C105
C106 c107
C109 c108
C114 C111
C501 C112
C504 C113

C115

C116

C117
D101 D108
D104

|
O
| €O, I &
co, [lkg-cO,/m? [co, I It

0
-

0

C104

NGO N
0
ol

[EEY
|

C103
c122
c127
C130
c51.1
C525




Al1/0|20 0/0|7 6
1,33 0/0|7 3
1-586-1
1,377.24 |m? m 1 o 1
™ O |
| | O O
| | O O
O O O
84|29 O O n
28
= x 0.0258 31 |kl
= 61 |t
_ 0|t
_ 61 |t
2
1000/ 44.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O | Nm®| 11,023.7 | 45.00 496.1 0.014 24.7
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 s | O |kwnh 00| 9.28 0.0 0.489 0.0
O |kwh| 75,6840 9.76 738.7 0.489 37.0
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,234.7 61.7
o | md 649.0 0.251 0.2
o | md 649.0 0.439 0.3
0.4
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)%

A 4




A202
A203
A204
B101 B103
B102 B107
B105 B108
c101 C105
C106 c108
C109 c111
Cl14 C112
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D105
D104 D107
D106 D108
E101 E106
E103 E108
|
0
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2
C10.4 C12.0
C12.4 Cl25 X
C127 C12.8 C1209
C1 3.0 C5 0.9 C5 1.0
C5 1.1 C5 2.0 C5 2.1
C5 2.2 C5 2.3 C5 2.4




Al1/0]2]|0 0,0/ 6|0
1133 0,052
3-233-
2,273.70 | m? 1 O 1
- 0 |
[ ] O O
n O O
O O O
81429 O | ]
28
= x 0.0258 43 |kl
= 83 |t
_ o
= + 83 t
2
1000/ 36.5 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 511.4 | 45.00 23.0 0.014 1.1
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 288.0 | 36.70 10.6 0.019 0.7
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 167,718.0 9.76 1,636.9 0.489 82.0
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,670.5 83.9
| m?® 1,225.0 0.251 0.3
| m?® 1,225.0 0.439 0.5
0.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D103 D108
D104
E114 E129
E124
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C1 0.4 C105 c1 2|
C125 C12.6
C127 C5 0.9 C5 1.1

1N




Al1/0]2]|0 0,0 6|2
1/ 3|4 0, 0| 8|3
® 5-3%4
5,680.05 | m? 1 o1
- 0 |
n O O
O O O
O O =
719141 O O =
28
= x 0.0258 100 |kI
= 194 |t
_ 3
= 197 |t
2
1000/ 34.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 398,511.0 9.76 3,889.5 0.489 194.9
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
3,889.5 194.9
| m® 4,374.0 0.251 1.1
| m® 4,374.0 0.439 1.9
3.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
C101 C102
C106 C104
C109 C111
C501 C113
C504 c123
C506 C115
C116
C117
C503
D101
0 |
O n
| €O, I &
co, [lkg-cO,/m? [co, I It




Al1/0]2]|0 0,0 6|3
1/ 3|4 0, 0| 8|8
® 51
2,669.81 | m? 1 o1
- 0 |
n O O
O O O
O O =
719141 O O =
28
= x 0.0258 31 |kl
= 60 Jt
_ 2|t
_ 62 |t
2
1000/ 22.4 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 124,619.0 9.76 1,216.3 0.489 60.9
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,216.3 60.9
| m® 3,723.0 0.251 0.9
| m® 3,723.0 0.439 1.6
2.6
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x
A 4




A202
A203
A204
B105 B106
B107
B108
C101 C102
C106 C105
C109 c108
C114 c123
C501 C115
C504 C116
C506 C117
c121
C503
D101 D105
D104 D108
0 |
O n
| co, I &
co, [lkg-cO,/m? [co, I It

Cl 26

c111 C113
C130




Al1/0|20 0/0|6 4
1132 0/0 /1|1
23
4,800.00 | m? m 1 o 1
™ O |
| | O O
O O O
O O [ |
719141 O O n
28
= x 0.0258 34 |kl
= 66 |t
_ 0|t
_ 66 |t
2
1000/ 13.7 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O | Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 s | O |kwnh 00| 9.28 0.0 0.489 0.0
O |kwh|136,031.0| 9.76 1,327.7 0.489 66.5
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
1,327.7 66.5
o | md 271.0 0.251 0.1
o | md 271.0 0.439 0.1
0.2
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)%

A 4




A202
A203
A204
c101 C123
C106 C116
C109 C117
C114 c121
C501 C503
C504
D102
D108
0 |
O n
| co, | e
Cco, [lkg-com? |co, I It




Al1/0|20 00|65
1,34 0/0 9|1
7-2-
10,500.00 | m? 1 o1
™ O |
| | O O
O O O
O O [ |
61931 O O n
28
= x 0.0258 82 |kl
- 160 |t
_ 0|t
- 160 |t
2
1000/ 15.2 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O | Nm® 0.0 | 45.00 0.0 0.014 0.0
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 s | O |kwnh 00| 9.28 0.0 0.489 0.0
O |kwh|327,369.0| 9.76 3,195.1 0.489 160.1
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
3,195.1 160.1
o | md 450.0 0.251 0.1
o | md 450.0 0.439 0.2
0.3
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)%

A 4




A202
A203
A204
B101 B103
B105 B106
c101 c102
C106 c103
C109 c107
C504 c108
C112
C115
C116
c117
C118
D101 D102
D104 D108
E101 E106
|
0
| Co | e
Cco, [lkg-com? |co, I It

C510

c128

C120

C52 4

C130

c121
C50 3




Al1/0]2]|0 0,06 |7
1/ 3|4 0,081
¥ 3-12-
2,577.69 | m? 1 o1
- 0 |
n O O
O O O
O O n
8/ 0|51 O O ]
28
= x 0.0258 236 |kl
= 459 |t
_ 28 It
= 487 It
2
1000/ 178.0 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 15,362.1 | 45.00 691.3 0.014 34.5
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh | 868,385.0 9.76 8,475.4 0.489 424.6
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
9,166.7 459.1
| m® 40,652.0 0.251 10.2
| m® 40,652.0 0.439 17.8
28.0
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
C101 c108
C106 C111
C109 C112
C114 C113
C501 c123
C504 C115
C506 C116
C117
C503
D101 D102
D103 D105
D104 D108
E101
|
O
| €O, I &
co, [lkg-cO,/m? [co, I It
B1 0.3 B1 0_4 C1 0.4
C105 C120 C12.4
c125 c126 c127
C128 C130 C5 0.9
C5 1.1 C5 2.4




Al1|0|2]0 0/0| 6|8
1134 0/0| 8|8
H 678
1,270.36 | m? 1 o1
- 0 |
= O O
O O O
O O =
8/ 0|51 O O ]
28
= x 0.0258 156 |kl
= 304 |t
] 18 |t
= 322 |t
2
1000/ 239.3 |kg-CO,/m
GJ
t
=( /1000)x = x  x 4412
O [Nm® 43.5 | 45.00 2.0 0.014 0.1
LPG O kg 850.6 | 50.80 43.2 0.016 2.6
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 00| 9.97 0.0 0.489 0.0
2 8 O | kwh 00| 9.28 0.0 0.489 0.0
O |kwh|617,079.0| 9.76 6,022.7 0.489 301.8
5 17 3 kWh 0.0| 9.76 0.0 0.489 0.0
6,067.9 304.4
O m® | 27,281.0 0.251 6.8
O mé | 27,281.0 0.439 12.0
18.8
=( /1,000)x
= X x )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B105 B107
B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D104 D102
D106 D107
D108
E106
E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
C1 0.4 C105 C1 0]
C125 C12.6
C127 C129 C1 3.0




All1/0|2|0 0|0|6]|9
1132 0|0|1]|3
2-31
1,779.82 | m? 1 o1
- 0 |
™ O O
O O O
O O =
8/ 5/4|9 O O ]
28
= x 0.0258 55 |kl
= 107 |t
_ 10 It
= 117 |t
2
X 1000/ 60.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O [Nm®| 8,918.4 | 45.00 401.3 0.014 20.0
LPG O kg 0.0 | 50.80 0.0 0.016 0.0
O L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 O | kwh 0.0| 9.97 0.0 0.489 0.0
2 g | O |[kwh 0.0| 9.28 0.0 0.489 0.0
O |kwh|179,884.0| 9.76 1,755.7 0.489 88.0
5 17 3 kWh 00| 9.76 0.0 0.489 0.0
2,157.0 108.0
O m® | 14,969.0 0.251 3.8
O m® | 14,969.0 0.439 6.6
10.3
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B107
B105 B108
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116
c117
C503
D101 D102
D104 D107
D106 D108
E101 E106
E103 E108
0 |
0 n
| Co | e
Cco, [lkg-com? |co, I It
B1 03 C1 0.2
C10.3 C1 0.4 C1 05 C1 0.7
C12.0 c12.1
C125 C12.6 C127
Cl 2.8 C1 29 C13.0
C5 0.9 C5 1.0 C5 1.1
C5 2.0 C5 2.1 C5 2.2
C5 2.3 C5 2 4 C5 2.5




110,20 0|0 7|0
1132 0|0 3|2
3 41-
2,123.90 | m? 1 O 1
- O |
[ ] O O
O O O
O O [ ]
8/ 5/4|9 O ]
28
= x 0.0258 32 |ki
= 62 It
_ 1]t
_ 63 |t
2
x 1000/ 29.1 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
O Nm® 374.1 | 45.00 16.8 0.014 0.8
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 ] 36.70 0.0 0.019 0.0
] 0.0
] 0.0
8 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
O kwWh| 125,526.0 9.76 1,225.1 0.489 61.4
17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,242.0 62.2
O m?® 1,832.0 0.251 0.5
O m?® 1,832.0 0.439 0.8
1.3
=( /1,000)x
X X )/ 1,000
= / )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B108
B105
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116

c117

C503
D101 D102
D103 D105
D104 D107
D106 D108
E101 E106
E103 E108

|
0
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2 C10.3
C1 0.4 C105 C1 0.7
C11.8 C11.9 C12.0
Cl21 C122 C124
C125 C1 2.6 C127
C128 C129 C1 3.0
C5 0.9 C5 1.0 C5 1.1
C5 2.1 C5 2.2 C5 2.3
C5 2.4 C5 2.5




Al1/0]2]|0 0,071
1/ 3|4 0, 0| 8|2
19
1,260.47 | m? "1 O 1
- 0 |
n O O
O O O
O O n
8/ 5/4|9 O O ]
28
= x 0.0258 35 Jki
= 68 It
_ o
_ 68 |t
2
1000/ 53.9 |kg-CO,/m
GJ
t
=( /1000)x = x  x 44/12
| Nm®| 13,825.1 | 45.00 622.1 0.014 31.0
LPG | kg 0.0 | 50.80 0.0 0.016 0.0
| L 0.0 | 36.70 0.0 0.019 0.0
O 0.0
O 0.0
8 22 | kWh 0.0 9.97 0.0 0.489 0.0
22 8 | kWh 0.0 9.28 0.0 0.489 0.0
| kwh| 76,288.0 9.76 744.6 0.489 37.3
5 17 3 kWh 0.0 9.76 0.0 0.489 0.0
1,366.7 68.3
| m?® 1,187.0 0.251 0.3
| m?® 1,187.0 0.439 0.5
0.8
=( /1,000)x
= X x )/ 1,000
= |/ )x 1,000 =( /1,000)x

A 4




A202
A203
A204
B101 B106
B102 B108
B105
c101 c108
C106 c111
C109 C112
Cl14 C113
C501 c123
C504 C115
C506 C116

c117

C503
D101 D102
D103 D105
D104 D107
D106 D108
E101 E106
E103 E108

|
0
| Co | e
Cco, [lkg-com? |co, I It
C1 0.2 C10.3
C1 0.4 C105 C1 0.7
C11.8 C11.9 C12.0
Cl21 C122 C124
C125 C1 2.6 C127
C128 C129 C1 3.0
C5 0.9 C5 1.0 C5 1.1
C5 2.1 C5 2.2 C5 2.3
C5 2.4 C5 2.5




